



OFFICE OF THE EXECUTIVE ENGINEER
HORTICULTURE CIVIL DIVISION NO.10
D.D.A., SCHOOL BLOCK, SHAKARPUR,
DELHI - 110092
E-mail: eehcdx@gmail.com

No. F.1 (308)2025-26/EE/HCD-10/ADDA/ 603

Date: 7/2/26

To,

✓ Sh. Rahul Suryavanshi,
D-368, Ganesh Nagar,
Pandav Nagar Complex,
Delhi-110092,
E-mail: rahulsuryavanshi92@gamil.com

Name of work: M/o Completed Scheme under NA-II (Hort. Zone)
SH : Providing and Fixing white marble railing at various locations in Asita
Park DDA land.
E-tender ID : 2025_DDA_892441_1
NIT No. : 28/EE/HCD-10/DDA/2025-2026
Estimated cost: Rs. 7,58,953/-
Ref : P.G. submitted in shape of FDR A/c No. 44852525476 dt. 22/01/2026
for sum of Rs 33,857/-

Dear Sir,

Your percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at your quoted rates subject to following terms & condition:-

1.	Estimated Cost	Rs. 7,58,953/- (Rupees Seven Lakh Fifty Eight Thousand Nine Hundred Fifty Three Only)
2.	Quoted & Accepted Rate (Contractor's Enhancement)	@(-) 10.78 % below (Ten point Seven Eight percent) below on estimated cost
3.	Quoted Tender Amount	Rs. 6,77,137.87 (Rupees Six Lakh Seventy Seven Thousand One Hundred Thirty Seven and paisa Eighty Seven Only)
4.	Accepted Tender Amount	Rs. 6,77,137.87 (Rupees Six Lakh Seventy Seven Thousand One Hundred Thirty Seven and paisa Eighty Seven Only)

Time allowed for carrying out the work shall **07 Days** only.

You are requested to attend this office for drawing formal agreement along with a non-judicial stamp paper worth Rs.100/- (Rs. One hundred only) which shall be brought by you within 3 days after the date of issue of this letter, failing which the acceptance of the work is likely to be withdrawn.

Please note that the time allowed for carrying out the work as entered in the tender will be reckoned from next day after the date of issue of this letter to commence the work. You are requested to contact A.E.-VII/HCD-10/DDA of this division and start the work immediately.

Thanking you,

Yours faithfully


(Sandeep Kushwaha)
Executive Engineer
HCD-10/D.D.A.

Copy to :-

1. C.E.(Hort.)/D.D.A.
2. S.E./HCC-3/D.D.A.
3. F.O. to C.E. (Hort.), D.D.A.
4. All EE's/ Hort. Zone/DDA
5. E.E. (QAC)-VI/D.D.A., Vikas Sadan, New Delhi.
6. Sr. A.O./CAU(Hort.)/ D.D.A.
7. AE(QC) to CE(Hort.)/DDA Vikas Minar, New Delhi.
8. Labour Commissioner, 15, Rajpura Road, Delhi
9. Income Tax Office (contractor circle), Ward 38(3), Civic Centre, Minto Road, New Delhi.
10. Secy., DDA Contractor Association (Regd.) Vikas Kuteer, New Delhi.
11. DDA Contractor Welfare Association (Regd) Vikas Kuteer, New Delhi.
12. Secy. DDA Contractor Registration Board, Vikas Minar, New Delhi.
13. T.Y.A.DDA Contractor Association, 11-12, Vir Sawarkar Block, Budh Bazar, Gandhi Nagar, Delhi-31.
14. Delhi Contractor & Building Association (Regd.), 306, Masjid Moth, Rai Sahib Mkt., South Extn. Pt-II, N.D.-49.
15. AE-VII/HCD-10/D.D.A. with the direction to hand over the site the contractor and ensure timely start the work.
16. A.E.(P)HCD-10/D.D.A.
17. Head Clerk, A.A.O., /HCD-10/D.D.A.
18. DDA's Website.
19. Agreement copy.

↑
**Executive Engineer
HCD-10/D.D.A.**

Tender Inviting Authority: Delhi Development Authority

Name of Work: M/O completed scheme under NA-III/Hort. Zone.

SH:- Providing and Fixing white marble railing at various locations in Asita Park DDA land.

NIT No: 28/EE/HCD-10/DDA/2025-26

Name of the Bidder/ Bidding Firm /	RAHUL SURYAVANSHI						
---------------------------------------	-------------------	--	--	--	--	--	--

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevant columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER #	NUMBER #	TEXT #
Sl. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	3	cum	260.30	843	INR Eight Hundred & Forty Three Only
2	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 and for all lift.	1.30	cum	196.00	255	INR Two Hundred & Fifty Five Only
3	P/L cement concrete - all works upto plinth level : 1:2:4 (1 cement : 2 coarse sand (zone-II) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources)	2.40	cum	7878.50	18908	INR Eighteen Thousand Nine Hundred & Eight Only
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:5:10 (1 cement : 5 fine sand derived from natural sources: 10 graded stone aggregate 40 mm nominal size derived from natural sources)	1.00	cum	6189.65	6190	INR Six Thousand One Hundred & Ninety Only

5	Providing and laying at or near ground level factory made kerb stone of M-25 grade cement concrete in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement: 3 coarse sand), including making joints with or without grooves (thickness of joints except at sharp curve shall not to more than 5mm), including making drainage opening wherever required complete etc. as per direction of Engineer-in-charge (length of finished kerb edging shall be measured for payment). (Precast C. C. Kerb stone shall be approved by Engineer-in-charge).	0.12	cum	10117.60	1214	INR One Thousand Two Hundred & Fourteen Only
6	Taking out existing CC interlocking paver blocks from footpath central verge, including removal of rubbish etc., disposal of unserviceable material to the dumping ground, for which payment shall be made separately and stacking of serviceable material within 50 metre lead as per direction of Engineer-in-Charge.	2.00	sqm	131.75	264	INR Two Hundred & Sixty Four Only
7	Disposal of building rubbish / maba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved	0.12	cum	263.95	32	INR Thirty Two Only
8	Supplying and stacking at site Newel posts size (100*100*1000mm), for White Marble Railing all complete as per direction of Engineer-in-charge.	20.00	Each	13515.05	270301	INR Two Lakh Seventy Thousand Three Hundred & One Only
9	Supplying and stacking at site Baluster Pillar size (75*75*750mm) for White Marble Railing all complete as per direction of Engineer-in-charge.	169.00	Each	2133.95	360638	INR Three Lakh Sixty Thousand Six Hundred & Thirty Eight Only
10	Fixing White Marble Railing i/c Newel posts size (100*100*1000mm) Baluster Pillar size (75*75*750) and top rail size (100*50) in proper level etc. all complete as per direction of Engineer-in-charge.	31.80	mtr	3816.60	121368	INR One Lakh Twenty One Thousand Three Hundred & Sixty Eight Only
<p style="text-align: center;">Total in Figure</p> <p>Note:</p> <ol style="list-style-type: none"> 1. After opening of the financial bid, the L1 bidder shall submit the Performance Guarantee (PG) within 03 days, which may be extended up to 02 days with late fee. 2. The date of start of work shall be the next day from the award of work. 3. From the date of start of work, the agency shall procure and arrange all required materials within 03 days. On Failure, the work will be closed under clause-3 with forfeit PG and APG without any notice. 4. The time period for completion of the work shall be 07 days from the date of start of work. 5. In case of delay in completion of the work beyond the stipulated time period, a penalty of ₹1,00,000 (Rupees One Lakh only) per day shall be levied and deducted from the final bill/PG/APG. <p style="text-align: center;">Correction Factor on DSR @0.973</p>						
Quoted Rate in Figures			Less (-)	10.78%	677137.87	INR Six Lakh Seventy Seven Thousand One Hundred & Thirty Seven and Paise Eighty Seven Only
Quoted Rate in Words		INR Six Lakh Seventy Seven Thousand One Hundred and Paise Eighty Seven Only				


 Executive Engineer
 HCD-10/DA

